## ON THE KONHAUSER SETS OF BIORTHOGONAL POLYNOMIALS SUGGESTED BY THE LAGUERRE POLYNOMIALS

## H. M. SRIVASTAVA

Recently, Joseph D. E. Konhauser discussed two polynomial sets  $\{Y_n^{\alpha}(x; k)\}$  and  $\{Z_n^{\alpha}(x; k)\}$ , which are biorthogonal with respect to the weight function  $x^{\alpha}e^{-x}$  over the interval  $(0, \infty)$ , where  $\alpha > -1$  and k is a positive integer. For the polynomials  $Y_n^{\alpha}(x; k)$ , the following bilateral generating function is derived in this paper:

$$\sum_{n=0}^{\infty} Y_n^{\alpha}(x; k) \zeta_n(y) t^n = (1-t)^{-(\alpha+1)/k} \exp\left\{x [1-(1-t)^{-1/k}]\right\} \\ \cdot G[x(1-t)^{-1/k}, yt/(1-t)],$$

where

(2) 
$$G[x, t] = \sum_{n=0}^{\infty} \lambda_n Y_n^{\alpha}(x; k) t^n ,$$

the  $\lambda_n \neq 0$  are arbitrary constants, and  $\zeta_n(y)$  is a polynomial of degree n in y given by

(3) 
$$\zeta_n(y) = \sum_{r=0}^n \binom{n}{r} \lambda_r y^r$$

It is also shown that the polynomials  $Z_n^{\alpha}(x; k)$  can be expressed as a finite sum of  $Z_n^{\alpha}(y; k)$  in the form

(4) 
$$Z_n^{\alpha}(x;k) = \left(\frac{x}{y}\right)^{kn} \sum_{r=0}^n \binom{\alpha+kn}{kr} \frac{(kr)!}{r!} [(y/x)^k - 1]^r Z_{n-r}^{\alpha}(y;k)$$
.

For k = 2, formulas (1) and (4) yield corresponding properties for the polynomials introduced earlier by Preiser [4]. Moreover, when k=1, both (1) and (4) would reduce to similar results involving the generalized Laguerre polynomials  $L_n^{\alpha}(x)$ . For results analogous to (1) and (4), involving certain classes of functions, the reader may be referred to our papers [5] and [6], respectively.

2. The following results will be required in our analysis.

(i) The generating function [3, p. 803]:

(5) 
$$\sum_{n=0}^{\infty} {\binom{m+n}{n}} Y_{m+n}^{\alpha}(x;k) t^{n} \\ = (1-t)^{-(\alpha+mk+1)/k} \exp \{x[1-(1-t)^{-1/k}]\} Y_{m}^{\alpha}(x(1-t)^{-1/k};k),$$

where m is any integer  $\geq 0$ .

(ii) The explicit expression for  $Z_n^{\alpha}(x; k)$ :

H. M. SRIVASTAVA

$$(6) Z_n^{\alpha}(x; k) = \frac{\Gamma(\alpha + kn + 1)}{n!} \sum_{j=0}^n (-1)^j \binom{n}{j} \frac{x^{kj}}{\Gamma(\alpha + kj + 1)},$$

which is equation (5), p. 304 of Konhauser [2].

From (6) it follows fairly easily that

(7) 
$$\sum_{n=0}^{\infty} Z_n^{\alpha}(x; k) \frac{t^n}{(\alpha + 1)_{kn}} = e_0^t F_k[-; (\alpha + 1)/k, \cdots, (\alpha + k)/k; - (x/k)^k t],$$

since k is a positive integer.

3. Proof of the bilateral generating function (1). Substituting for the coefficients  $\zeta_n(y)$  from (3) on the left-hand side of (1), we find that

$$\sum_{n=0}^{\infty} Y_n^{lpha}(x; k) \zeta_n(y) t^n = \sum_{n=0}^{\infty} Y_n^{lpha}(x; k) t^n \sum_{r=0}^n {n \choose r} \lambda_r y^r \ = \sum_{r=0}^{\infty} \lambda_r (yt)^r \sum_{n=0}^{\infty} {n+r \choose r} Y_{n+r}^{lpha}(x; k) t^n \ = (1-t)^{-(lpha+1)/k} \exp{\{x[1-(1-t)^{-1/k}]\}} \ \cdot \sum_{r=0}^{\infty} \lambda_r Y_r^{lpha}(x(1-t)^{-1/k}; k) (yt/(1-t))^r \ .$$

by applying (5), and formula (1) would follow if we interpret this last expression by means of (2).

4. Proof of the summation formula (4). In the generating function (7), if we set  $t = (y/k)^k z$ , we shall get

$$(8) \qquad \sum_{n=0}^{\infty} Z_n^{\alpha}(x;k) \frac{(y/k)^{kn} z^n}{(\alpha+1)_{kn}} = \exp\left\{(y/k)^k z\right\}_0 F_k[-(xy/k^2)^k z],$$

which, on interchanging x and y, gives us

$$(9) \qquad \sum_{n=0}^{\infty} Z_n^{\alpha}(y;k) \frac{(x/k)^{kn} z^n}{(\alpha+1)_{kn}} = \exp\left\{(x/k)^k z\right\}_0 F_k[-(xy/k^2)^k z],$$

where, for convenience,

(10) 
$${}_{_{0}}F_{k}[\xi] \equiv {}_{_{0}}F_{k}[-; (\alpha + 1)/k, \cdots, (\alpha + k)/k; \xi].$$

From (8) and (9) it follows at once that

(11)  
$$\sum_{n=0}^{\infty} Z_n^{\alpha}(x; k) \frac{(y/k)^{kn} z^n}{(\alpha+1)_{kn}} \\ = \exp \left\{ z [(y/k)^k - (x/k)^k] \right\} \sum_{n=0}^{\infty} Z_n^{\alpha}(y; k) \frac{(x/k)^{kn} z^n}{(\alpha+1)_{kn}} ,$$

490

and on equating coefficients of  $z^n$  in (11), we shall be led to our summation formula (4).

5. Applications. First of all we notice that formula (4) may be rewritten as

(12) 
$$Z_n^{\alpha}(\mu x; k) = \sum_{r=0}^n \left( \frac{\alpha + kn}{kr} \right) \frac{(kr)!}{r!} \mu^{k(n-r)} (1 - \mu^k)^r Z_{n-r}^{\alpha}(x; k) ,$$

which provides us with a multiplication formula for the polynomials  $Z_n^{\alpha}(x; k)$ .

On the other hand, by assigning suitable values to the arbitrary coefficients  $\lambda_n$  it is fairly straightforward to obtain, from our formula (1), a large variety of bilateral generating functions for the polynomials  $Y_n^{\alpha}(x; k)$ . For instance, if we let

(13) 
$$\lambda_n = \frac{(-1)^n}{\Gamma(\beta + ln + 1)}, \quad n = 0, 1, 2, \dots; l = 1, 2, 3, \dots;$$

and make use of the definition (6), we shall readily arrive at the bilateral generating function

(14) 
$$\sum_{n=0}^{\infty} \frac{n!}{\Gamma(\beta+ln+1)} Y_n^{\alpha}(x;k) Z_n^{\beta}(y;l) t^n \\ = (1-t)^{-(\alpha+1)/k} \exp{\{x[1-(1-t)^{-1/k}]\}} H[x(1-t)^{-1/k}, -y^l t/(1-t)],$$

where, for convenience,

(15) 
$$H[x, t] = \sum_{n=0}^{\infty} Y_n^{\alpha}(x; k) \frac{t^n}{\Gamma(\beta + \ln n + 1)}.$$

For k = l = 1 and  $\alpha = \beta$ , the generating relation (14) would evidently reduce to the well-known Hille-Hardy formula for the Laguerre polynomials.

## REFERENCES

491

<sup>1.</sup> Joseph D. E. Konhauser, Some properties of biorthogonal polynomials, J. Math. Anal. Appl., **11** (1965), 242-260.

<sup>2.</sup>\_\_\_\_, Biorthogonal polynomials suggested by the Laguerre polynomials, Pacific J. Math., **21** (1967), 303-314.

<sup>3.</sup> T. R. Prabhakar, On the other set of the biorthogonal polynomials suggested by the Laguerre polynomials, Pacific J. Math., 37 (1971), 801-804.

<sup>4.</sup> S. Preiser, An investigation of biorthogonal polynomials derivable from ordinary differential equations of the third order, J. Math. Anal. Appl., 4 (1962), 38-64.

<sup>5.</sup> J. P. Singhal and H. M. Srivastava, A class of bilateral generating functions for certain classical polynomials, Pacific J. Math., 42 (1972), 755-762.

6. H. M. Srivastava, On q-generating functions and certain formulas of David Zeitlin, Illinois J. Math., **15** (1971), 64-72.

Received September 7, 1972 and in revised form March 8, 1973. Supported in part by NRC grant A-7353. See Abstract 72T-B97 in Notices Amer. Math. Soc., **19** (1972), p. A-437.

UNIVERSITY OF VICTORIA